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Mohit.. 18 hours ago

Thank-you Sir for this Very Amazing and Wonderful Class Session..,,

And
My Answer for today's Homework is-
Option C == 2484...

Read more
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Subhamoy Ghosh 17 hours ago

2484
Thank you sir
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Vishnu Gupta 18 hours ago

2484 is the right ans
Very super duper nice  session sir thank you ., ¥ sir
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Surbhi Sinha 16 hours ago
e

Homewark question answer
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F % Ravi Patel 17 hours ago
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| Aishika Ghosh 18 hours ago
/2484
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option cceec 2484
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SSC CHSL Tier-I :-Pattern

Sections/Subjects Number of Questions Maximum Marks Time Duration

each section

General Awareness 25 50 60 minutes
Reasoning/General 25 50

Intelligence

English Language (Basic 25 50

Knowledge)

Quantitative Aptitude 25 50

(Basic Arithmetic Skill)

Total 100 200
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SSC CHSL Tier 2 Plaper II Exam Pattern

Sections Module Subject No. of Questions Marks Weightage Duration
Mathematical
Module-I 30 90 25%
Abilities
Section I 1 hour
Reasoning and
Module-II . 30 90 25%
General Intelligence
Session —I
English Language
(2 hours & 15 Module-T 3 i 40 120 33.33%
Min) Section II and Comprehensiox 1 hour
Module-II General Awareness 20 60 16.66 %
. Computer o .
Section II1 Module-I 15 45 Qualifying 15 minutes
Knowledge Test
) Qualifying 15 minutes
Skill Test For DEOs
Session —II | Section III Module-II
. Qualifying 10 minutes
Typing Test For LDC/JSA
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The area of a field in the shape of a regular hexagon 1s 1944\/3 m?. What will be
the cost (in Rs.) of fencing it at the rate of Rs. 11.50 per meter?

TARITHT SEHSTTRI o Teoh Ha T hi &5t 19443 He@ R 11.50 T 9 dieg hr e q
$E U ST AT eh! AT (¥9F H) T BT
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’7& o\ e \%«'\% \\1 a) Rs. 2,256
= \—(;{:\3?\6/&:_: £= 6o b) Rs. 2,785

~ 0= Rs. 2,484
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Ifa—+b+c=0,then the value of a° + b’ + ¢’ is
A a+b+c=0,Ta’+ b’ + ¢ T WM T &7

O

\éj\l“p \OC
+ —+ == X o CA —+ - —Cn )™~

a) abc
b) 2abc

d) 0
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The surface area of a cube is 726 cm?”. Find the volume of the cube

Ush O T IS &l 726 HHIZ 2| T ST AT HTd ehiTSIC

_ 6a*
o P e\
ga - ‘\%\l | \) 1 a) 2744 cm3
O —

\ / b) 1729 cm3

—\)
o CIEED
NS Q> d) 2197 cm3
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If a number 7P323Q 1s completely divisible by 88, then the values of P

and Q, respectively, are:

afe weh €A 7P323Q, 88 W I THE H fawrsa 2, dl shHST: P 3R Q % WA &

S~ 2 a) 3;2
odh T Tavew .
v Paka 2’3>\

@ c) 4;2



[fa:b=2:5andb:c=3:4, find the valueofa : b : c.
Jeatb=2:53b:c=3:4,dla:b:chl AE AT hIIT

b=BZ
b C = '
o o

@GN
AR

( 7 7any \
NP, ¢) 631520

d)3:8:10

a) 6:16: 21
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Find the length of diagonal of a cuboid 13 m long, 7 m broad and 3 m
high.
13 HieT s, 7 HieT Tig 3T 3 Hiel 3 THT1Y o foehul shi dalTg 3T shifsTy|

= ™
d =) CeRhn 2) V207 m
\ \TATV ST b) V232 m
o) V327 m

\g?:*\}oﬁo\ ) V227 m
(\ TsaT Ay Q
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If half of the quantity of sugar in a bag was sold at a profit of 20%, a quarter of the quantlty of
sugar 1n the bag was sold at a profit of 16%, and the remaining sugar in the bag was sold at a
profit of 24%, and the total profit obtained by selling all the sugar in the bag was Rs. 90, what

was the cost price of the entire quantity of sugar in the bag?

aﬁqasénﬁ%ﬁaﬁmwﬁzo% oh ATH Y T ST &, o7 | <t bl HIET o Ueh TS hl
16% ok AT YT &= T4 ©, ﬁ?éﬂﬁ:ﬁﬂ?ﬁ?ﬁﬁ%% AT YT S w||d|%léﬂﬁqﬁ%ﬂ=ﬁoh| CEER
WWWM% aﬂﬁ%ﬂﬁ?ﬁmﬁmmohl AR FTAT? e = W%j’(

W =t
d a) Rs. 450
\“’*{: b) Rs. 750
\ Ar) c) Rs. 500

d) Rs. 400
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If two circles of radi1 28 cm and 18 cm touch each other externally, then the length of

a common tangent 1s :

afe 28 WY ST 18 Wl 5T ATt <1 oI Ueh G bl SRl &9 H T30 hLd &, dl WY T

Yt o i e « ras
7€

Pe= oG P

: W\O o a) 40.90 cm
(o= | T‘jij o b) 42.00 cm
R S — ) 44.90 cm

= W0 d) 44.12 cm



How much water (in ml) should be added to 300 ml of a 75% milk and water mixture

so that it becomes a 45% milk and water mixture?

75% g1 I ATt o forror o6 300 foredt 7 fepamm arft (faredt o) feretra St =nfey arfer @@

45% 8T SR T B fHreror 51 ST
L
= Avonder
25 J/ %
_ ok - :
= ML WSades, ?}}‘5\2 I 8300

\ - QAS™L %9 ;f’ ). \f\

o \.\j/ b) 250




The marked price of a shirt 1s 1,200. The shopkeeper gives successive discounts f
25% and 20%. Find the selling price of the shirt.

Teh 31 T 3fehd Ao 7 1,200 2| THMER 25% HIT 20% 2hi ShiHeh HT <l €| IC o {ofsh3
{1 i)
'}4§f’ $o
g-f) - \@‘M> = )<o/
//vv/” _5;(
"'\. a) T660
i) \ b) T640
< ;_// / c) €720

d) 680



A batch of 30 students took an intelligence test in an institution. 20 of them scored an
average of 75 marks and the remaining students scored an average of 87 marks. What

1s the average score of the entire batch of students?
et i 30 T 3 G a3 s e & s e 3 @ 20 % st 75 S
foRT I Y BT ST 87 7o TTH fohT) ST o QU o= AT H16d 7ok &1 82

G L
%Qb(?f{ = \<\>7k%7‘]'/

D ) 9
(;ﬁ N 2) 7

S88/= s c) 78
d) 77
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Sundar lends a sum of 6,000 to Mahesh at an interest rate of 10% p.a., compounded

annually. What will be the amount at the end of 2 years?

Hat = TR Rl 10% Tl o Al =Ashdfeg AT 3 9 6,000 ht ART IUR A, ST SAMiveh €9 €

G il 21 2 99 oh 37d & e feraem g
RN elole Rade = \Q-/'/\/@\

a) 7,160
b) ¥7,250
c) ¥7,200



m / at 08:30 PM /

If X’ + y° =416 and x + y = 8, then find x* + y*.
?Jﬁx3+y3=4163ﬁ'{x+y=__&_ x4+y4$|TFr?=ﬁﬁ'l'Ql
AN =B — &3 < Y ~
- Q&\’U{\@ =4y ey

\ B . o %:ch e — e R
Qn\é\c\cd@% O 3—:3\3\ AU SPN
NCE B - 2) 3002
R\ YU =64+ /g = ST
\\\&:i\i’—__gg % _‘V\%\?\\,‘:';_‘ = > SV b) 3204
B> ’ ¢) 3004

ToEme @9
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A ship sails out to a mark at the speed of 15 km/h and sails back to te
starting point at the speed of 10 km/h. The average speed of sailing of

the ship is:
Ueh AT 15 TerH/EeT <h T O Uk HiWTeT <hl 3T SATaT g 3T 10 fepHi/een

ohT T & URTSTeR Toig U2 Ao ATAT 81 SET oh ST shi STE i 2:

a) 12 km/h
b) 15 km/h
c) 13 km/h
d) 14 km/h
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A woman spends 25% of her income. If her expenditure is 1,250, then find er

income.

Teh HIZEAT AUHT 3T R 25% Tl hIdT 2| T(S SThT 4 ¥1,250 T, T ITehT AT
AT shifeTg)

g_%\/_ s \3-30

\oo V- = =
a) 22,500
( = \\ b) €5,000
\R=s, c) €1,250

d) £1,000









